3000

3 - 1 383b0L ( 8G )

‘4080690
1065 1065
: 2130

3-7(18)

BILOL
=1
S

900

3 - 6 3960 ( 8G )

(=]
D
]
3-7(18)
BILOL
=1
b~
900

730

730

1460

2400

3-9(16)

3 -6 89b0L ( 2G)

730
1460

730

+—he

3IbOL ‘dIB06IR0O

100, 70

1580

Tt

3065 499

N70

30LSEIA0_01535LS

3-7(16) 3-7(28)
n FILOL 9IbO0L
o
@ S 1=
Q IS NI
900 %0
3-14(16)
9IbOL
_B03IAOIR0 LSAHHIS
(3 53030)
8
N
N
i3
3o
T ~ 1300 30LSBIA0_0)535LS

R5333IM0: 5503"SLMBGOSGOS

SBHY"

MBOROLOL SRSFNS60L bob. LabIRVOB) LMILIHO
LASFISHIN0 MISAHAOL AHISMELGEAHIICO0L 3@(MITS0

LOGIISMAH0O

/W [0).:35305830920

36. 5@I0GHIIG.

30520

SAHINBGIISIOIRO 65VORO

LAHSR0S

BIAC.

BI6. @SR,

&3,

S -

BISLAHIRS

03V

(9.3063

0820
23580583020

35®IB0L A30DIMO 6SbSLO
( 996OL )

36 "I XXTI"

2018




